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1 Aven-for 1 ABCD
,
AC= AD

,
Lt= (2

&

Toprove-AABCE1ABD
&roof-In AABC and AABD A Y B

Ac = AD( given)
1= (2 (given I

AB = AB(common)
D

: AABCEAABD by SAS congruence
.. BC = BD(2.p . c. t)

Hence provent

2. Given ABCD in a quadrilatera= D-

in which AD = BC and

LDAB = LCBA .

Toprove-AABDE ABAC 3)⑪ BD = AC

⑪ LABD = LBAC C

Proof- In AABD and ABAC
ADEBC) given)
LDAB = LCBA) given)
A, B = BA (common)
: LABDE ABAC by SAS congruence

⑪ BD = AC (c .p - c . t)

⑪ LABD = LBAC (C . p - c . t)

Hence proved
B
J I

2

3. Liven-AD and BC are equal
perpendicular to live segment
AB .

Toprov-OA =OB I F
D A
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#roof = In AOD and ABOC

LAOD = LBOC (vertically opposite angles
LA = Le (each = 90)
AD = BC (given
.. AAOD EABOC ly AAS corollary
: OA = OB (c . p . c .t.)
.. CD bisects AB .

Hence proved
p q

4. Aer-1111m and pl1q
Toprov - *ASCEACDA l
Froof-In A. ABC and ACDA

At D

LACB = LCAD(alternate
interior angles)

s C
In

AC = (A) common)
LCAB = LACD) alternate

interior angles)
:. ABCEACDA by ASA congruence
Hence proved

T

5. Awen-LRAB = LPAB and BP
and BQ are perpendiculars & -l

i

from B to the arms of LA. B

Toprove- F >
A B

① APBE AQB L

⑪ BP = BQ

Proof-
① In XAPB and XARB

LBQA = LBPA (each = 90)
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LPABELOAB (given
ABAB() common)
: AAPBEAAGB by AAS corollary

⑪ .. BP =BQ(c . p . c . t)

or B is equidistant from the arms
of LA.
Hence proved

G . Given-AC = AE, AB = AD and
11

E

LBAD = LEAC .

A

To prove-> BC =DE

Proof-
- I

Il

LBAD = LEAC ( given)
Adding LDAC on B
both side D C

LBAD + LDAC = LEA2 + LDAC

or LBAC = LDAE - Q

& A BAC and ADAE

ABIAD (given
LBACILDAE) using equationQ)
AC = AE( given)
.. ABACE A DAE by SAS congruence
:

. BC = DE (C . p . c .

t. )

Hence proved.

7. Sien-AB is a line E D

segment and AP = BP ,

LBADLABE and

LEPA = LDPB :

zoove-
A p B
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① ADAPE LEBP

⑪ AD BE

rooLE greate sides
LEPA + LEPD = LDPB + LEPD

o (DPA = LEPB- Q

① Sn XDAP and AEBP

LA = LB(given
AP = BP (given
LDPA = LEPB(using equ. D)
.. A DAP = LEBP by ASA congruence

⑪ ADE BE (C . P - C . t)
Here proved

D A

8. twen-In 1 ABC, LACB=90; 11

AM =BM . Also
,
DM = CM

&

M
Toprove- & 11

① AAMCE ABMD B C

⑪ LDBC is a right angleor LDBC = 90
⑭ ADBCE LACB

⑪ CM = E AB

&roof-OS AAMC and ABMD
AM = BM (given)
LAMC = LBMD) vertically opposite angles
CM = DM (given
.. AMBE ABMD by SAS congruence
: LMAC = LMBD (C . p . c · t) and AC = DB(cp . c . t) - Q
But these are alternate interior angles.
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.. DBIIAC

⑪ DBIIAC (proved) and BC is a transversal
: LDB2 +LACB = 180/cointerior angles)

or LDBC+ 90 = 180 : ( : LACB= 90 given)
or LDBC = 180 - 90%

or LDBC = 90 ·

: LDBC is a right angle
⑭ In ADBC and AACB
DB = AC) using equ . P)
LDBC = LACB(each = 90)
BC = CB) common/
:. ADBCE AACB by SAS congruence
:

.
DC = As (C .p . c ·+)

⑪ DM + CM = AB

or CM + CM = AB ( : DM=CM given
or 2 CM = AB

or CM = AB

Hence proved.
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